

Apartment in Qormi



Qormi, Central



€285,000

Reference No: 240231007-238

 Total Rooms: 6

 Floor Area (m²) : 132

 Bathrooms: 1

 Bedrooms: 2

Apartment - For Sale - Qormi

QORMI – NEW BLOCK located close to all amenities. The block consists of maisonettes, apartments, penthouses, and garages, with each unit offering a choice of 2 or 3 bedrooms. The properties are being offered in shell form and freehold. For viewings or more information, kindly get in touch with your preferred RE/MAX property consultant.

Features

- ✓ Lift
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 9.48 x 2.99 m (28.35 m²)
- ✓ Office / Study : 2.92 x 3.37 m (9.84 m²)
- ✓ Laundry : 1.82 x 1.82 m (3.31 m²)
- ✓ Double Bedroom : 2.92 x 3.83 m (11.18 m²)
- ✓ Double Bedroom : 4 x 3 m (12 m²)
- ✓ Bathroom Ensuite : 1.97 x 2.53 m (4.98 m²)

Gallery





Julian Galea

RE/MAX Centerparc - Qormi

M: 99441900

E: julian@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta